Seat No. / Enrolment No.:

GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Engineering — SEMESTER - 1/ 2(CtoD) New — EXAMINATION - Summer-2024

Subject Code: C4300006
Subject Name: Engineering Chemistry
Time: 10:30 AM TO 12:00 PM

Instructions:

Date: 20-06-2024

Total Marks: 70

1. Attempt all questions.
2. Make Suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4, Use of programmable & Communication aids are strictly prohibited.
5. Use of non-programmable scientific calculator is permitted.
6. English version is authentic.
7. Use only OMR to answer this question paper.
No. | Question Text and Option. W&l s [As&).
The bond form by the transfer of electron from one atom to the other atom is known as
L A. | lonic bond B. | Metallic bond
C. | Covalent bond D. | H-bond
URHIQRAMI 9a52)el JH L] el Aol % ite] (1Rl 52 B d
oigal 52 9.
YA T e oy B. |ullcas iy
C. | & dUlws viy D. | sloglaet uitl
The crystal lattice arrangement of Fe is type.
2. |A. |FCC B. | BCC
C. |HCP D. | CCP
Fe oil 35[25H1 WRHIQAMN] el USRel €U B,
<. A. | FCC B. | BCC
C. |HCP D. | CCP
A substance which change the rate of reaction without itself taking part in reaction is
3 known as
" | A. | Catalysis B. | Reactant
C. Catalyst D. | Product
Ad) yelel 3 o ulsAiHi 1191 dlul 9o UlsAlell €2 HL 38R 52 8 d uslela
58 8.
3 [A T6lu B. |ulsus
C. | Glgus oiluey
Diamond is an example of type of solids.
4. | A. | Metallic B. | lonic
C. | Network D. | Molecular
SRR UsIRell 8ol 8.
¥, |A | dledly B. |wAl[els
C. |ouilelR D. | w1edly
Which of the following is a network solid?
5. | A. | NaCl B. | Phosphorous
C. | Graphite D. |Cu
o |Ast111]] 53 w5 2ANU{lelR €ol B2
u. | A [NaCl B. | sl
C. |Jslpe D. | slu:
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Which catalyst increases the rate of reaction?

6. | A. | Negative B. | Positive
C. | Auto D. | Inhibitor
sA) Glgus ulsalell Ao qulR 82
. A | BYl B. | sl
C. |xy D. | [ay
lonic compounds are in water.
7. | A. | Insoluble B. | Soluble
C. | Sparingly soluble D. | Neutral
WIS HAlosetl viflui 8.
9. |[A [l B. |¢ld
C. | viQld: ¢l D. |dew
Which of following catalyst is used in preparation of NH3?
8. |A. |Fe B. | Ni
C. |Cu D. | Pt
o{lAstl Higll sU) Gleus WM (ALl Weillaeui duid 82
¢. | A |Fe B. | Ni
C. |[Cu D. | Pt
Full name of FCC is )
9. | A. | Face centimetre cube B. | Face centre cubic
C. | Face centimetre structure D. | Face cube centre
FCC o Y <11y | 8?
€. |A |5y Aldle: sy B. | 5 A2 syoils
C. | 5u Al wsUR D. |34 ®yo A
The strength of cement concrete is due to bond.
10. A. lonic B. | Metallic
Covalent D. | Hydrogen
(éma sl(s2s{l Hasoidles ot o W 1813] B.
0. [A [uRS B. |ullcas
C. | ds dlws D. | &l9sl%e
PH of pure water at 25 °C is )
11. [A |2 B. |9
C. |14 D. |7
oA dluHlal Ledd y1fleil PH R
1. A |2 B. |9
C. |14 D. |7
PH of 0.01 M HCI solution is
12. |A |12 B 7
C. |2 D. |8
0,01 M HCI sil ¢ldQl «{| PH el 8.
PQR, A |12 B 7
C. |2 D 8
The value of Kw at 25 °C is
13. | A. | 1072 B. |10
C. |10 D. |10%
UeAd dIUHla Kw of Y& el 8.
3. |A. | 107 B. |10%°
C. 10 -14 D. 0-13
PH can be defined as the negative logarithm of ion concentration.
14. | A. | HO" B. |OH
C. | Na' D. | K"
. |PHA B [Yetof]l Aicdlotl 2L dgRLs e golld ML w14 B.
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A. | H3O"

B. |OH

C. | Na*

D. |[K'

Solution which resist changes in PH are called

15. | A. | Acidic solution B. | Basic solution
C. | Buffer solution D. | Neutral solution
% ¢ldRl PH U5 51R «il UldsIR 53 da TSR

W | A | ARss ¢lanl B. |d(»s¢laal
C. | W& ¢ldul D. | dgel ¢ldsl
HCI isa electrolyte.

16. | A. | Weak B. | Strong
C. |BothAandB D. | Neutral
HCI ¥ ([agjd(aeiior 8.

€. |A | oo B. | ywn
C. | A¥dB tia D. |dee
Which reaction takes place at cathode in an electro chemical cell?

17. | A. | Oxidation half reaction B. | Reduction half reaction
C. | Reduction reaction D. | Oxidation reaction
[agd 11 (3Ls EMHL 32015 GUR 58 Ulsul Ay 87

9. | A | w1545t e-u(5l B. | Rss2lsl wd-u(sul
C. | Rss2lel ulsul D. | {5151 ulsl
Which is used to get the exact value of PH for the given solution?

18. | A. | Litmus paper B. | PH paper
C. | Universal indicator method D. | PH meter
WIUE ARl YIS PHej Alss Y& 1lal Yl Q) AUy 8?

. |A | [@eHddwR B. |PHUWR
C. | yllayd yus yed(d D. |pHHleR
If [H30"] [OH], then the solution is acidic.

19. |A |= B. |>
C. |< D. |#

%\ [H30] [OH], dl ¢ldgl ARi[Ss B.

@ A | = B. |>
C. |< D. |#

The mathematical expression of Faraday’s first law is

20 |A. | m=Cxt B. mi/mz = E1/ Ez
C. | m=2ZxCxt D. | mi/my =212
33511 [y 21 [dd 2y 8.

0. |A. | m=Cxt B. mi/mz = E1/ Ez
C. | m=2ZxCxt D. | mi/my =212
The cell in which chemical energy is converted into electrical energy is called

21. | A. | Electrolytic cell B. | Electro chemical cell
C. | Electrical cell D. | Half cell
% SINH[ RAIU[SLS AlSdo] [AydAlSAH 1YL &IY d 58 8.

Q. | A | [aydlaetlesel sy B. | ([dyduAulu(Cls sly
C. | (ayd sl D. | wd sy
Which types of corrosion takes place when metal is exposed to air?

22. | A. | Electro chemical corrosion B. | Atmospheric corrosion
C. | Pitting corrosion D. | Water line corrosion
2R3 Hldel Scllotl AUSHI AWAIHL 41d AR $Y &1L LLU?

R A | dlgiAafEs &Rl B. |dldldRuueil aq ellral
C. | [f2a&RrRal D. | uIsil+il Aquill «1 ad &Ryl

23. | In water line corrosion, the part of metal which is less in contact with oxygen
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experiences

A. | Oxidation B. | Redox
C. | Reduction D. | Addition
ULRflol quLe] o1 adl 1RQIMI Hldetl %8 G191 wL(5UeSetell w91 AUSHI Sld A
23 wsied 8.
LA |l (sudele B. |35l
C. | Rssele D. | ldieile
What is the formula of iron rust?
24. | A. | FeO B. | Fe203
C. | FesOq D. |Fe
qluisell slee] YA 9 8?2
Y. |A. | FeO B. | Fe20Os
C. | FesOq D. |Fe
Rusting of ion is Process.
25. | A. | Fast B. | Slow
C. | Medium D. | Acidic
qluise selq A ulsul 8.
U | A | »sul B. |l
C. |Heuy D. |A[ulss
Galvanizing means protective coating of on iron.
26. | A. | Al B. |Cu
C. |[Sn D. | Zn
Aedst 1655591 Aed dluis GuR o ¥R USlAdg,
. | A. | Al B. |Cu
C. |[Sn D. | Zn
To reduce corrosion welding should be avoided at places.
27. |A. | L B. | T
C. |U D. | All of above
&R e21sdl Yl W Lol 11 GUR d[E5] 2lnng,
9. A | L B. | T
C. |U D. | All of above
By which process, base metal is coated both side by rollers
28. | A. | Tinning B. | Hotdipping
C. | Metal spray D. | Metal cladding
56 Utr[d ¢lR1 6 didel W 6119 AdUS & AR ¢R1 yBlddIH #1d 8?
. | A | [al B. | &le (sl
C. |ded ) D. |deq 4[5
Which type of process Fe —Fe*?+2¢ is this?
29. | A. | Oxidation Redox
C. | Reduction B. | Addition
Fe2+ 2e 3L UL USR] Ulsul B2
e | A | Al[s52e B. |3sl&
C. | Rssele D. | ¥laeile
1B.T.U= cal
30. A |18 B. | 252
C. |22 D. ]0.252
11B.T.U= 3543)
3o. |A. |18 B. |252
C. |22 D. ]0.252
For which type of fuel of the calorific value can be obtained by Bomb calorimeter?
31. | A. | Solid B. | Liquid
C. | Gas D. | Solid and Liquid
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ooy 3alaleel] sul usiRell WladBle] Gu{ly yey dad) Ls1y?

31 |A | B. |vdlls
C. |diy D. | 8ot e Yalel
What is first removed during fractional distillation of petroleum?
32. | A. | Water and sulphur compounds B. | Petrol
C. | Asphalt D. | Gas
U2llduyeil ([Ae1ofly (ARiest e MAlel U Q) ¢ S 241d 87
32 [A | UIQll el yesysd Hulwell | B. | U2ld
C. |SIHR D. |dIy
Which of the following has maximum percentage of carbon?
33. | A. | Peat B. | Lignite
C. | Bituminous Coal D. | Anthracite coal
ol Qe M 12] QML HSdH Slodelstl 251 E1U B?
33. [A [ule B. | [aaulge
C. | olgHlely slaxl D. |AsAA182 slal
In India lignite coal occurs in
34. | A. | Assam B. | Delhi
C. | Punjab D. | Maharashtra
MRAHL [@U1e2 sladl Hiyoll 2419 8.
3%, A | A B. | [ecsl
C. |yome D. | 4sRIY
Which process is used for the refining of petroleum?
35. | A. | Fractional distillation B. | Filtration
C. | Distillation D. | Crystallisation
Uollauyeil Qee{lsl Ui 56 Ued[d quRy 87
3U. | A | [y (ARigst B. |alaal
C. | [ARigst D. | 3llslsrel
Which is the first stage of the coalification of wood?
36. | A. | Lignite B. | Peat
C. | Bituminous coal D. | anthracite
alssiHlell sladlell 2YidRell udH doiss) sl 82
35 |A | [aee B. [dle
C. | [yl slal D. |¥gdulge
Which of the following substance is mixed with L.P.G to get odour to it?
37. | A. | Propane B. | Butane
C. | Methane D. | Mercaptans
ol Aot 1112l 5A) ARy L.P.GHI WIA USIRe(l dld HI2 (M8 51 2414 8?
39. |A | Jluq B. [0y
C. | e D. | HR¥eeey
Mixture of petrol and alcohol is known as
38. | A. | Power alcohol B. | Gasoline
C. | Methanol D. | Ethanol
Uold wa ulesleld of MRl dild wlawiy 8.
3¢ | A | yldRylesleld B. |d\(aq
C. | Mg D. |94
The temperature at which when a flame is kept near to the vapour of fuel and it is burnt
39 continuously then it is called of that fuel.
" | A. | Flash point B. | Cloud point
C. | Fire point D. | Pour point
3¢ % dluHla Udlel w@eseil oidy Ul oRlld dlddl sldd Hodldls] Add ALRUL 53

da desey  5& 8.
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A. | ¢ssl (oig B. |yy [cig
C. | w13l [0, D. |34l (0ig
The mixture of oil and water is called
40. | A. | True solution B. | Emulsion
C. | Suspension solution D. | Lubricant
dd 4a Yleilell Ml 5& 8.
¥o. | A | AR LAl B. | Uy
C. | ¥ld[wd ¢laul D. |el&5
The number of milligrams of KOH required to make soap from 1 gm of oil is called
41. | A. | Saponification number B. | Emulsification number
C. | Lubrication D. | Distillation
QAWM dgqu el Al Wellddl HI2 eI KOH «il (H[aA M 5¢ 8.
¥ [ A | Alogefl 501 wis B. | uldlsl wis
C. | ele&d D. | [cARitql
Which of the following is used as lubricant in bearings and vehicles?
42. | A. | Olive ail B. | Caster oil
C. | Palmail D. | Tallow oil
AR Wl Lol aes dils 9 dupY 8?
¥ | A | ¥ilfdd dg B. | (eddqidd
C. |ulnsuils dg D. |U0ils dq
The temperature at which the liquid can no longer flow is called
43. | A. | Flash point B. | Cloud point
C. | Fire point D. | Pour point
% dluHla Udlel lesell el Ulddl Wesl wd da elsseq 58 9.
¥3. | A | ¥ssl(oig B. |4y (vig
C. |21 [vig D. |3l [oig
Viscosity of lubricating oil is determined by
44. | A. | PH meter B. | Pensky martin apparatus
C. | Red wood viscometer D. | Bomb calorimeter
wlsslel Reldtdl  glRLHIUAIML WA 8.
¥¥. |A [ PHYIlR B. | Usl-ullesl Gusel
C. |359s ([ashle: D. | wiy 5¢3{ler
is used to measure the Flash-point & Fire —point of Lubricants.
45. | A. | Red wood viscometer B. | Pensky martin apparatus
C. | PH meter D. | Watt meter
Hé&j #H55L(04g W WIdL[04g Hiugl HI2 quURAY B,
¥U. | A [3sqs [Arsl{le: B. | Uasl-u1(3+ GusY
C. |pHHlR D. |dleHlR
The unit of viscosity is
46. | A. | Newton B. | Poise
C. | Gm/litter D. | Mgl/litter
[Retotidllof] 454 8.
¥e. | A | Yee B. |ule
C. |awm/laer D. | mdl /(a2
Lubricants are used to reduce the Resistance between two moving surface.
47. | A. | Thermal B. | Electrical
C. | Rotational D. | Frictional
2olesell GualdL o sl AuLZlal dRel AaRlua gelsdl Hi2 Yl 8.
¥9. | A | Gu{ly B. | [ay(dx
C. |ulsy D. |eaNgl
48. | Which type of lubricant is used in heavy machineries?
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A. | Solid B. | Semi-solid
C. | Semi-Liquid D. | Liquid
M2 W) dlddl HRilsAlHi $UL USIRs] WES AU 872
¥C. | A | tel B. | wY-¢oi
C. | wd ydiel D. [udlél
Monomer of P.V.C. is
49. | A. | Vinyl Chloride B. | Vinyl cyanide
C. | Ethylene D. | Propylene
P.V.C.ell HlellHR 8.
¥e | A | [dellod selRIBS B. | [delid IA-lleS
C. | gdldlq D. | vl(ds
What is the monomer of Teflon?
50. | A. | Propylene B. | Phenol
C. | Tetra fluro ethylene D. | Ethylene
256llet 1 sUL USReAL HleAlHR Sl 87
Yo, [A. | uUlfufgs B. | (seild
C. |22l &4l vlalde D. | olalgs
Phenol formaldehyde polymer is also known as
51. | A. | Orlon B. |P.V.C
C. [ Nylon D. | Bakelite
(s-ild slulesslos UldlHR 303yl Aauiy 8.
Ui |A [ adgle B. [uldlal
C. |ludle D. | d3alpe
is used for Vulcanisation of rubber.
52. | A. | Si B. |Cr
C. |S D. | Fe
R0Rel| dehel AN dURIY B,
Ul |A. | Si B. |Cr
C. |S D. |Fe
Monomer of natural rubber is
53. | A. | Ethylene B. | Vinyl chloride
C. Propylene D. | Isoprene
sedl U Ylo142 »{1d4] el 8.
u3. |A | 8lafge B. | [delpd s4lR19S
C. [vllu(eet D. | 3ol
From the following which is an example for elastomer?
54. | A. | Buna-S B. | Polyester
C. | Bekalite D. | Melamine
[e1Ast (1 12]] 20429 BelSWL 53 8?
uy. [A | ooty B. |Ullqaer
C. |a3dlpe D. | HeHIEe
From the following which is an example for addition polymerization?
55. | A. | Bakelite B. | Polyethylene
C. | Polyester D. | Melamine
o1 Ast 11 12] A)2IL( Wstsdls] BeleWL 53 B?
yu. | A | diqlse B. |ull@s(efds
C. |vllaer D. | HdHlgel
Which type of polymer is used in the manufacture of tyre?
56. | A. | Thermoplastic B. | Thermosetting plastic
C. | Rubber D. | Epoxy Resin
Ue, | 21UR¢ll Badlesiti SUL USIReq UlElHR quRgy 8?
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A | adlwlifRes B. |aulaf3a wiRes
C. [ D. | xulel el
Bakelite is a polymer.
57. A. Linear B. | Branched
Cross-linked D. | Homo
Q%cuaa A YdlR 8.

uo. |A [Rwy B. |y
C. | ¥idr ¢ifdd D. | el
Which plastic can be remoulded on heating?

58. | A. | Thermoplastic B. | Thermosetting plastic
C. | Plastic D. Elastic
SUL USReAL L[R2 S ARH 53] 1SR wiedl s 82

ue. A [ adlwifRes B. |alafEa wiRes
C. |wlles D. | gdlles
Phenol and Formaldehyde are the monomers of

59. | A. | Melamine B. | Orlon
C. | Bakelite D. |PTFE
(selld e slHLlEssIos oAl Ylo4R 8.

ye |A | ey B. | wkdlet
C. | dxdlpe D. | PTFE
In the vulcanisation of rubber if %sulphur, then soft rubber is obtained.

60. |A. | 5% B. | 35%

C. | 5% to 35% D. |15%

dG5a19eloll UISAIMI oM 6RU[ dles of YHIBL % &Y B,
20. |A. | 5% B. | 35%

C. | 5% to 35% D. |15%

The density of glass wool is kg/m?.

61. | A |27 B. |56
C. |72 D. |65
24494 il goldl kg/m? 8.

1 |A |27 B. |56
C. |72 D. |65
The monomer unit of P.V.C. is

62. | A. | CH,=CH> B. | CH,=CHCI
C. | CH.=CCl, D. | CHCI=CHCI
P.V.C.oll ¥515] w1 e2lldl.

2. | A. | CH,=CH, B. | CH,=CHCI
C. | CH.=CCl, D. | CHCI=CHCI
Hard rubber is also known as :

63. | A. | Ebonite B. | Anthracite
C. | Buna S rubber D. | Neoprene rubber
WRS 0424 yl sé 9.

€3. |A | pulldlee B. | Al
C. | o4of-WU-0R D. | [(idl[uet 2042
Which type of polymer is -A-A-A-A-A-A-A-?

64. | A. | Linear polymer B. | Branched polymer
C. | Cross-linked polymer D. | Co-polymer
-A-A-A-A-A-A-A-W YL USReAL 6{sH2s 87?

Y. | A |y wgetes B. | 2uu{ly wgtes
C. | widR vildd Wg8ls D. | deWgles

65. | Ni-CD cell is a type of cell.
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A. | Primary B. | Secondary
C. | Primary and Secondary D. | Dry
Ni-CD usiRell sly 8.
€U [A | ulaMs B. | (¢dlus
C. |wiaMms ua [¢dlus D. |ysl
cells are having less efficiency?
66. | A. | Primary B. | Secondary
C. | Dry D. | Fuel
siyefl slieudl 21 Sl 8.
€% |A | vlaMs B. | [¢dlus
C. |ysl D. | 0{01dwl
The unit of conductance is
67. | A. | ohm B. | ohmcm®
C. [ mho D. |ohm?cm
aAlesdlell ¥ sH 8.
<9. | A. | ohm B. | ohmcm?
C. | mho D. | ohm?cm
Potential of dry cell is volt.
68. |A. |2 B. |15
C. |14 D. |1
sl slNstl Ul [-R1ud dle 9.
¢ |A. |2 B. |15
C. |14 D. |1
The cell which converts solar energy into electrical energy is called
69. | A. | Solar cell B. | Dry cell
C. | Fuel cell D. | Led acid storage cell
AR Gl o [Ayd Gosl Hi 1UIdR 5l SINe 5& 9.
€t | A [ AldR sl B. |yslsly
C. | vjnidul sly D. | 4s aules sl
Which gas can be used to operate fuel cell?
70. |A. | H> B. | CO
C. | CHy4 D. | All of these
WOdQl SINa 20 51 SUL USSRl dly dURIY 8?
9o, |A. | Ho B. | CO
C. | CHq D. | GURell »ylo

kkhkhkhkhhhhkkkkkkk

9/9



